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Out

Divider p( x)=1+x5+ x9

Shift register

EXOR gate

Primitive polynomial p (x)=1+ x l
+xm

→ max sequnce length N =2m
−1

LFSR ≡ Linear-Feedback Shift Register

Sequence
m=9

N =511

2m-1 ones and 2m-1-1 zeros
arranged in groups of
1X   m ones, m-1 zeros
1X   m-2 ones and zeros
2X   m-3 ones and zeros
4X   m-4 ones and zeros 
.................
2m-5  groups 111 and 000
2m-4  groups 11 and 00
2m-3  individual 1 and 0

Period
T

Autocorrelation(τ )

−1

τ

(2m
−1)T
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−1

Spectrum
∣F( f )∣

f CLOCK=1/T 2 f CLOCK

2m
−1 lines

Sound and appear as white noise!


